N of simulated tracks vs transverse vert position

TrackingParticles

Ratio

10°

10*

10°

10?

0.95

ehaeaaaan

N of associated tracks (simToReco) vs transverse vert position

Reconstructed TPs

| N of simulated tracks vs z vert position

TrackingParticles

10

=
.......lt’:....... P
-

=

Ol(\
1072

10 1 10 10?
TP vertr (cm)

| N of associated tracks (simToReco) vs z vert position |

Reconstructed TPs

Ratio

0.95

0.9

=30

10 20 30
TP vert z (cm)

=0 -10 0

Rati

0.95

0.9

1072 107 1 0?

10 1
TP vertr (cm)

N of simulated tracks vs.simPVz |

TrackingParticles

Ratio

10*

10°

10?

10
S PP PR PR PR PR P P
095 -rsbremmet et e denens
1 i 1

o

|
N
o

|
4]

1
=
o

05 10 15 20
TP Sim. PV z (cm)

Rati

0.95f------b--oeee - SRR Fosaase ghoosass

0.9

=30

1020 30
TP vert z (cm)

=20 -10 0

| N of associated tracks (simToReco) vs. sim PV z |

Reconstructed TPs

10

P PO U OO O SOUS OO S SO S

6 420 2 4 6 8 10
TP Sim. PV z (cm)



	Contents
	Page 1


